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O000000: The SIAM 100-Dollar, 100-Digit Challenge (2002)
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0 Problem 1:0 What is Iim | z lcos(z tlogz)dzx ?
e—0.Je

x*cos(xllogx)
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Jooggo:

I = /O f(x)sinxdx
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= /Ooof(;c) exp(iwx) dr, w >0

DEOD: z = M¢(t),

Jl ¢(t) = 1_exp(—2t—a(1t—e—t)—6(et—1))’
F = /_O:O f(Mep(t)) exp (iwMo(t)) M¢'(t) dt

Dooogg:
B= [ (o)) exp (iwMe(t) — iwoM(t)) M () b,

000 ¢(t) = ¢(t) —t = |E| ~ 0 for large MOOOOOOO
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Fo= 7 5ao)exp (iwMo() — ZwoMa()
e (1 - /
- 2iM sin <§wOM¢(t)) & (1) dt
Jogbogotg:

0¢'(t) = o(exp(—cell)) (&t = —o0)
0¢(t) = ¢(t) —t = o(exp(—Beltl)) (¢t — 4o0)

= |sin (%wOM$(t)) qb/(t)| — 0 Double Exponentially as ¢t — +o0
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Byl = o n:z_:Nf <—woh¢(nh)> Sin (thb(nh))

/ TiW T
- @' (nh) exp (mﬁb(nh) — Q—héb(nh))
where

t

P = A (et —all —e D) = Bl — 1))’

a = B/,/1+10g(1 + m/(woh))/(4wgh), 8 = 0.25.
wOOO0O00: 0<w< 2w,
|F — F}EN)| < c6e_CO/h + e/ 4 CIQe_CQ(QMO_w)/h
< C'(w)exp(—C(w)N/log N)
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e 1089: JUDUODOODOOOO
t+1/t?2 + Aexp(—Bcosht)
0 ¢(t) = \/ 5

A, B>0

e 1989,19091: 0O UOUOOOOO

t ——
0 &(t) = 0000 -1 0 1
() 1 — exp(—65sinht)

e 1999,2005: O OOOMO
t

0 o(t) = 1 —exp(—2t—a(l —et) —B(et — 1))

Q& = O((_|gg h)1/2)’ B=0(1)
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02: Flw) = /0 log x exp(iwz) ded F = Iir% Flw+ie)OOO
E—r

gobooddd: wg=1, h=0.075 N =87, Ny =65
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(SIAM-100digit)

1 00 COSu
—1 —1 = 000000 wono
/O x~ - cos(x” “logx)dx /O a1t (W(u))_l)du (W W )

O00000wg/2=w=1

0000 38 90 207 471 1057
000 h 1/8 1/16 1/32 1/64 1/128
00 22.-1071 15.10720 1.4.10°38 75.10°73 1.8.-10°143
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I = /_11 f(x) dx
h fﬁf(mm(gwm@m»)
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cosh? (% sinh(nh)>

I,

5 cosh(nh) |
cosh?(Z sinh(nh))
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I—1, ~ R[Aexp(—B/h)]
= |A|cos(argA — IB/h)exp(—RB/h)
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L=h S f (tanh (gsinh(nh)))

5 cosh(nh)

e oo cosh2< S|nh(nh)>
0000
J, =h Z f(tanh<25|nh(nh)>> 5 2
n— — 00 cosh ( smh(nh))
Dooodbodoodbdbonodn
Jz/l 4 f(x) dx

-1 \/7r2 + 4(tanh—1 )2
Oo0odooodnonod
Jyadoooood
|J — Jp| < C"||fl|exp(=C/h), C" >0
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00 (00)0h = hg, hg/2,ho/22,---,ho/2M 0000
o/|I|exp(—C/h) < max(|I — Ip|,|J — Jp|),
[ — 1| < BlI|exp(—C/h)
000, g>0000000
Ep, = max(|I — I, |J = J) /|1
~ max(|{y/o — Ipl, |Ip 2 = Jnl) /1 2l
B

E/Q
o2 h

Eh/g < Bexp(—2C/h) <
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max(|1Ly /> — Iy, |Jy 1o — J 1 < —
(ny2 = Inls [Ihy2 = JuD/1p 2l \/B\@

17



max(|Iy, o = Iul, |2 — Jal)
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0000000000000000000000

0 apy1 = exp(exp((n+ 1)Kh)) = exp(2exp(nKh)) = a2
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epe(t) = tanh <gsinh t) 0000 (1974)

Joogguood

1 t
exp(—kcoshs)ds : OO (1997
) Jo 0 s)ds : 00 (1997)

t) =
YpEa1(t) Ko

4
¢DEa2(t) = —1 4+ —tan~1 (exp <g sinh t)) ;00 (2016)
s

00 ¢opean(t) 0 ope(H)000200030000000000000
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